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1. Simplify each of the following.
45a°b

@@ — -

64ef 3g4
24e3fg2

()

2.3
Smn " x

(4 mnx)2

(e)

2. Simplify each of the following.

(5a%*)
25ab’

(7/%¢) n*
21gh

(a)

(c)

3. Simplify each of the following.

4a+8b
6a +12b
e +ef
of +
J -k
k- jk

(a)

()

4. Simplify each of the following.

@ =b
(a-b)

! @ Lraded
| d* +2d

(a) -

| 5f-15
© 3f2-13f+12

(b)

()

®

(b)

(@)

(b)

(d)

®

(b)

(@)

®

35¢'d?
Ted!
8h’jk*

(2njk)*

9p3q4r
(3p4°r)

(4c2 )2 d’e
8cde’

(2k?)'
8j2k3

8¢’ —16¢d
5¢-10d

gh-hn

dmn - 8m
6m

¢’ —4c
c’-16

e-2
e —5¢+6

gh+h
g2+7g+6

e CHAPTER 6

OXTORD

UNIVERSITY PRESS



:JI

(a) 6ab’ & 564’
Tc 48bc¢

4d%e 27 f°

© 37 Ted
9n’x*>  5k*y*
(© x>
4ky’ T 12h%y

% Simplify each of the following.

@) 2a°b . 3abc
3¢ ' 8C3
14a’h .~ 2labc
6xy  12x°y

@) 4(a + 3b) N 3(a - 3b)
\ a-3b 25(a + 3b)
3(g+h) 8g+8h

© Ty T Tsp

Simplify each of the following.

Simplify each of the following.

5a°b*  9b*
T e
3bc 10a
16d°¢" . 21 f°
Tef* = 24d°¢’

16xy’ ><25a3bc
15abc® ~ 8x°yz

18d*e’ | 27de°
14d%e ~ 2lef’
81a’x’ . 63ax’
16bxy  24b%y’

Tc-28d “ e
e2 2C - Sd

2(j+k+5)
9

+(3j+3k+15)

¥ /épress each of the following as a fraction in its simplest form.

3,1
5a 4a
2 _1
Tec Td
hej 3h-j_j-h
2k 3k 5k

u__, 6u
2v+3 4v+6

ta)

(c)

el

Ug)

1 3 1

®) S5+ "

aef o _2¢f
3¢ & 3
2(p-q) 3(p+2q) S(p-4q9)
+ —
r 4r 6r
zZ+ 1 _ 22 -3 + Z
x=-2y 2x-4y 3x -6y

% Express each of the following as a fraction in its simplest form.

2,5
a T 2(a-1

ia)

2 1

(b) 3d+1 5d+3
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5. Simplify each of the following.
(=3a)’ b'c
27abc*

(~4fg°n)
-16f*gh’

(a)

Simplify each of the following.
(Za - 317)2

6a”> —9ab

155 (e~ f)

35xy(e- 1)

6h* —13h -5

6h”> +17h+5

(a)

e)

(p+a) -7
(g+r) -p°
6x7 + 3yz

(i 1=]

6x* —2xz7+ 3xy—-yz

2ac + bc - 2ad — bd
cx — 3cy — dx + 3dy

nplify each of the following.
2a 3¢ _8a

S Sl PR
2 1. 2h
K3k
393(13 . 6q2r3 ) 9(1'2
s 5p°  10pr
9b _(3d  16be)
" 21c ' 4e 9a )

~lify each of the following.

4 2
- X ax

ax-—da ax-—x

5¢0%d(x +
) ( yz)
100(x+ y)

gz +g-6

d - I - ———
@) g’ -9g+14

6 — 11k + 4k’

3k + k—14

(3x + y)2 -4z
15x% + Sxy + 10xz

®

(h)

2
X =2xz+xy-2yz
GO

X+ xy-x2-Y2

2

3d* 6 281
ef ~ 2lef = 3de
Am’n’ 24m 16m
d ——x——=+—
@ 36m ~ §m’n®  6mp’
20y | Ax'z | 3a
7a7°  2la’z 83Xy

{2 2
(h) 3x Z‘__}l?_)

(b)

®
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